Chapter 3. Compound Interest

Ex 3.1

Answer 1.

(i) Rs25000 for i é years at 10% per annum.

Here P = Rs25000,t = 1% years,r = 10%

Mow, Amount after 1 vear =P 1+ T |-25000]1+ £
100 100

= 250001 + Aol 25000 0"
10 10

= 27500

Thus, principle for the next 6 months = Rs27500

Interest for the next & months = 242006210 =1375

100=12

Therefore, amount after 1% years = Rs27500 + Rs1375 = Rs28875
AndCI = A -P = Rs28875-Rs25000 =Rs3875

(ii) Rs32000 for 2 years at ?% % per annum.

Here P, = Rs32000 andr = ?%%:g%

So, Amount after 1 year = F"[1+ irﬁ] = BEDDD[l + 1 J

2= 100
3 43
=3200011+ — | =322000] —
[ * 40] [40]
= 34400
15

Thus,P: = Rs34400 andr = 5%

So, Amount after 2 year = F’[1+ L] = 344[][][1 + L3 J
100 2w 100

3 43
_34400( 1+ = | = 34400[ 22
[ * 4@] [40]

_ 36980

Hence, Amount = Rs 36980
Also, CI = A- P =Rs 36980 — Rs 32000 = Rs 4980



(iii) Rs10000 forEé years at 6% per annum.
Here P, = Rs10000 andr = 6%

S0, Amount after 1 vear=F|1+ |- 10oo0[ 1+ o
100 100

_ 10000x 228 _ 10600
100

Thus,P; = Rs10600 andr = 6%
Amount after 2 vear =P| 1+ - 10600[1+ 8
100 100

= iDGDDxE = 11235
100

Thus, principle for the next6 months = Rs11236

Interest for the next & months = LIZ36RE M8 = 337.08

100 =12
Therefore, amount after 1% years = Rs11236 + Rs337.08 =Rs11573.08

AndCI=A-P=Rs11573.08 -Rs10000=Rs1573.08

(iv}Rs24000 fori é years at ?é % per annum.

Here P = Rs24000,t = ll years, r = ?E% =E%
2 2 2

Mow, Amount after 1 year = P[i + lrﬁJ = 24000[1+ 12 J

2% 100
_ 240001+ = | = 24000( 23
40 40
— 25800

Thus, principle for the next6 months = Rs25800

Interest for the next 6 months = Eopl xS xb = 957.50

20012

Therefore, amount after 1% years = Rs25800 + Rs967.50 = Rs26767.50

AndCI = A -P =Rs26767.50 -Rs24000 =Rs2767.50



Answer 2A.

For 1st vear: P=Rs 16000, R = 15% and T = 1 vear

o Interest = Rs, 16000 x 15 1 =FRs 2400

100
And, amount = Rs 16000 + Rs. 2400 = Rs 18400

For 2nd yvear: P =Rs 18400, R = 12% and T = 1 year

o Interest = Rs, 1840?5[]12 Rk =Rs 22082

And, amount = Rs 18400 + Rs, 2208 = Rs, 206808

. Required amount = Rs. 20608
And, Compound Interest = & - F = Rs, 206808 - Rs, 16000 = Rs, 4608

Answer 2B.

For 1st year: P=Rs 17500, R = 8% and T = 1 yvear

17500x8x1
~ Int t=FHs —— =Rs 1400
nteres 5 150 5

And, amount = Rs, 17500 + Rs 1400 = Rs, 189200

For 2nd vear: P = Rs 18900, R = 10% and T = 1 year

o Interest = R=s 189D£f5010x 1 = Fs 1890

And, amount = Rs, 12900 + Rs, 1890 = Rs, 20790

For 3rd year: P = Rs, 20790, R = 12% and T = 1 year

- Interest = Rs, ED?Q?SOQX ! Rs 249480

And, amount = Rs, 20790+ Rs, 2494, 20 = s 23284, 80

~ Required amcunt = Rs. 23284, 80
And, Compound Interest = A-F = Rs 23284.80- Rs 17,500 =Rz 5784, 80



Answer 3.

Here P, = Rs20000 andr = 10%
So, Amount after 1 yvear =P 1+ - 20000[1+ =l
100 100

= 20000 x O 22000
100

Thus,P: = Rs22000 andr = 10%
Amount after 2 vear =P 1+ |- 22000[1+ Pl
100 100

= 22000 % 19 24200
100

Thus,P; = Rs24200 andr = 10%
Amount after 3 year = F’[l + L] = 24200 [1+ E]
100 100

= 24200 % a2 26520
100

Hence, Amount = Rs 26620
Also, CI = A- P =Rs 26620 — Rs 20000 =Rs 6620

Answer 4.

For 1st year: P=Rs 5000, R = 10% and T = 1 vear

o Interest = RS.M =Rs 500
100

And, amount = Rs 5000 + Rs. 500 = Rs 5500

For 2nd vear: P =Rs, 5500, R = 10% and T = 1 year
SS00x10x=1

LInterest=Rs ———— "~~~ - Rs 550
100

And, amount = Rs 5500 + Rs. 550 = Rs 6050

For 3rd yvear: P = Rs, 6050, R = 10% and T = 1 year
BOS0x 10x1

L Interest=Rs ———_~_ ~ = Rs 605
100

~ Compoundinterest for 3rd vear is Rs 605,



Answer 5.

For st yvear: P=Rs 25600, R = 5% and T = 1 year

. Interest = Rs. 23600 % 5x1 =FRs. 1220

100
And, amount = Rs. 25600 + Rs, 1280 = Rs, 26880

For 2nd yvear: P=Rs 26880 R =5% and T = 1 vear

- Interest = R= 26880x5x 1 =FRs 1344

100
And, amount = Rs, 26880 + Rs. 1344 = Rs, 28224

- Amount at the end of 2nd year is Rs, 28224,

Answer 6.
Here P; = Rs7500 and rate of interest for half year (r}) = 4%

S0, Amount after - vear = P 1+ 1 |=7500 1+i
2 100 100

_7500x 9% _ 7300
100

Thus,P; = Rs7800 andr = 4%
Amount after 1 vear =P 1+ _|=7800[1+ e
100 100

= ?BDDKE =112
100

Thus,P; =Rs8112andr = 4%
Armount after ll vear = P 1+ _|=s8112 1+i
= 100 100

=28112x Aoas 2456.438
100

Hence, Amount = Rs 8436.48
Also, CI = A-P =Rs 8436.48 —Rs 7500 = Rs 936.48



Answer 7.

Since, Amount after 1 year = F’[1+ L]

100

100

P 27600 23
100 24000 20
.y <)
100 20 20
_100x3 _ 15
20
r 15
Amount after 2 vear =P| 1+ — |= 27600 1+ —/—
100 100

— 27600 = 24000[1+ L]

=1

=r

= 27600 x ki 31740
100

Answer 8.

Here P, = Rs14000 andr = 5%
So, Amount after 1 vear =P| 1+ |- 140001+ S
100 100

= 14000 % LS 14700
100

Thus,P; = Rs14700 andr = 8%
Amount after 2 year = F’[l + LJ = 14?[][][1 + i}
100 100

= 14700 % 108 _ 15876
100

Hence, Amount = Rs 15876



Answer 9.

Here P; = Rs17500 andr = 4%

So, Amount after 1 vear=P|1+ |- 17500(1+ e
100 100

=1/500% S 15200
100

Thus,P; = Rs18200andr = 5%

Amount after 2 vear =P| 1+ I |-18200([1+ ph
100 100

= 18200 % . 19110
100

Thus,P; = Rs19110andr = 6%
Amount after 3 vear = P| 1+ L _|-19110 1+i
100 100

=19110x% e 2025660
100

Hence, Amount = Rs 20256.60
Also, CI = A-P =Rs 20256.60 —Rs 17500=Rs2756.60

Answer 10.

For 1st half-year: P=Rs 4000, R = 14% and T = % year

Interest = R=, M =Rs 220
100 =2

And, amount = Rs, 4000+ Rs, 280 = Rs 4280

For 2nd half-year: P=Rs 4280, R = 14% and T = % Vear

Interest = Rs, 2280x14x1 b 509 60
100 %2

And, amount = Rs 4280+ Rs 299,60 = Rz, 4579.60

For 3rd half-year: P = Rs, 4579.60, R = 14% and T = % Wear

Interest = Rg, 2/2:00x14x1 Lo 256575

100 x2
And, amount = Rs 457960+ Rs 320,572 = Rs. 4900.172

Thus, the amount to be paid at the end of 1% vears is Rs, 4900, 172,



Answer 11.

Here Py, = Rs42000 and rate of interest for half year = 4%, t = 4 half years

S0, Amount after i yvear =P 1+ 1= 42000(1+ A
2 100 100

= 42000 = 104 _ 43580
100

Thus, P; = Rs43680

Amount after 1 year =P| 1+ T )= 4zes0(1+ e
100 100

= 43680 = L0 45427 .20
100

Thus,P; = Rs45427.20

Amount after 1% year =P[1+ | = 45427.20(1+ %
> 100 100

= 45427, 20« 10 47244, 29
100

Thus, Ps = Rs47244.29
Amount after 2 vear = P(1+ | = 47244.29(1+ 2
100 100

= 47 244,29 102 _ 4913406
100

Hence, Amount = Rs 49134.06
Also, CI = A-P =Rs49134.06 —Rs42000 =Rs 7134.06

Answer 12.

Casel:
Here P = Rs15000andr = 10.5%

So, Amount after 1 year = F’[l + Lj = 15000 [1+ EJ
100 100

= 15000 % 2l 16575
100

Casell:
Here P; = Rs15000 and rate of interest for halfyear (r) = 5%

So, Amount after 5 year =P 1+ |=15000]1+ B
2 100 100

= 15000 % 105 15750
100

Thus,P; = Rs15750 andr = 5%
Amount after 1 year =P| 1+ L _|-15750 1+i
100 100

- 15750 292 _ 16537 50
100

Hence the first man gainsby Rs16575 — Rs16537.50 =Rs37.50



Answer 13.

Casel:
Here P, = Rs20000 andr = 12%

S0, Amount after 1 year = F"[l + LJ = QDDDD[1+ E]
100 100

_ 20000x 112 _ 55400
100

Thus,P; = Rs22400 andr= 12%
Amount after 2 yvear =P| 1+ |- 224q00(1+ e
100 100

= 22400 112 _ 25088
100
Thus,P; = Rs25088andr=12%
Armount after 3 year =P 1+ T |- 250881+ e
100 100

= 25088« 2 28095, 56
100

Hence, Amount = Rs 28098.56
Also, CI = A- P =Rs 28098.56 —Rs 20000 = Rs 8098.56

CaseIl:
20000x12=3

Simpleinterest - ———— " " ~"" = _ 7200
100

Difference between C.I. and S.I. = Rs 8098.56 —Rs 7200 = Rs 898.56

Answer 14.
Since, Simple interest = i
100
Pxdx2 150000
= 1500 =— - = p="2"""_18750

100

Now for CI, P = Rs 18750,r = 4%, t = 2 year
Here P, = Rs 18750 andr = 4%

Y .-’ N
So, Amount after 1 year=P| 1+ __1-18750| l—i '

\ 100/ . 100/

=18750x E = 19500
100

Thus,P; = Rs19500 andr = 4%
|'# b’ |"-' ™
Amount after 2 year =P/ 1+ L 1_19500{1 P
. 100/ . 100/
= 19500:{& =20280
100

Hence, Amount = Rs 20280
Also,CI =A-P =Rs 20280 —Rs 18750 =Rs 1530



Answer 15.

Casel:
Here P; = Rs 5000 andr = 6%

i b i Ny
So, Amount after 1 year =P| 1+ | = 5000 i—i '

. 100 . 100/

_ S0P
100
G ™

I » s
Amount after 2 year =P| 1 +— _1-5300{1+ —|
L 100/ \ 100)

_5300x 1% _ 5615
100

Thus,P; =Rs 5618 andr = 6%

{ by’ i b’
Amount after 3 year =P 1 +— _|-5618[1+ |
" " 100 "~ 100)

=5618xﬁ =5955.08
100
Hence, Amount = Rs 5955.08
Also, CI = A-P =Rs 5955.08 —Rs 5000 = Rs 955.08

Casell:
Simple interest = oo o 200
100

Difference between C.I. and S.I. = Rs 955.08 — Rs 900 = Rs 55.08

Answer 16.
Since Simple interest = Ml
100
L oaggo Px4x2 45000

100
Now for CI,P = Rs 5625,r=4,t =1 year

Here P; = Rs5625 and rate of interest for half-yearly = 2%
So, Amount after il year = P 1+ _|=5625 1+i
2 100 100

= 5625« 10e_ 5737.50
100

Thus,P; = Rs 5737.50andr = 2%
Armount after 1 yvear =P |1+ ' _|-5737.50[1+ =
100 100

_5737.50 x 192 _ 5852 25
100

Hence, Amount = Rs 5852.25
Also, CI = A- P =Rs 5852.25 —Rs 5625 =Rs 227.25



Answer 17.

Casel:

Simple interest = 625@1[3[];8 ki 10000

Amount=Rs 62500 + Rs 10000 =Rs 72500

CaseII:

Here P; = Rs 62500 andr = 8%

S0, Amount after 1 year=F 1+ |=62500|1+ 5
100 100

_62500% 198 _s7500
100

Thus,P; = Rs 67500 andr = 8%

Amount after 2 year = P| 1 + T |-67500[1+ 5
100 100

= 67500 x 205 72900
100

Hence, Amount = Rs 72900
Thus, gainin amount = Rs 72900 — Rs 72500 = Rs 400

Answer 18.
For 1st year: P=Rs 100, R = 10% and T = 1 vear
Interest = Rs s =Rs 10
100

Amount=Rs 100+Rs 10=FRs 110

For 2nd vear: P=Rs 110, R = 15% and T = 1 vear

Interest = Rs M = FRs 16,50
100

Amount =Rs 110+ R= 16 50=Rs 126,50

When amountis Rs. 126,50, Principal is Rs, 100,
Hence, when amount is Rs, 10120,
10120x 100

Prindpal =Rs. —————"_~— - Rs, 8000
126, 50



Answer 19.
To calculate the S.1. paid by Sunil
P=Rs50000 R =10% and T = 1% vears = g Wyears

o SR 2P000%IDN 3 oe 2500

100 2

To calculate the C.1. earned by Sunil
For 1st vear: P=Rs50000 R = 10% and T = 1 year

o Interest = Rs. RO 100 1= Rs 5000

100
And, amount = Rs. 50000 + Rs, 5000 = Rs, 55000

1

For next half year: P=Rs 55000, R = 10% and T = > year

-~ Interest = Rs. SSEEE 10 1= Rs 2750

100% 2
And, amount = Rs, 55000 + Rs, 2750 = Rs. 57750

- Total ClI. earned = Rs, 57750 - Rs, 50000 = Rs, 7750
=Sunil's gain in 1% yvears = Cl. earmed - S.1, paid

=Rs 7750 -Rs 7500
=Rs250

Answer 20.
Let the value of mobile in the beginning be Rs. 100,
For 1st yvear, depreciation = 5% of Rs, 100 = % x100=PRs 5

Walue of machine for second vear =Rs, 100-Rs 5=Rs 95

For 2nd year, depredation = 5% of Rs, 95 = % x95=Rs 475
Walue of machine for third vear = Rs, 95-Rs, 475 =FRs 90.25

For 3rd year, depreciation = 10% of Rs, 90,25 = % x 90,25 =Rz, 9.025

Walue of machine at the end of third year = Rz, 90.25-Rs, 9.025 = Rs 81.225

Met depredation = Rs, 100-Rs, 81.225=Rs, 18775 or 18.775%



Answer 21.

For 1%*half vear: P=Rs 6500, B =10% and T = E ear
K ; 2‘;‘

Interest = Rs.m = Rs 325

100« 2
Amount = Rs 6500+ Rs 325 = Rs 6225

Money paid at the end of 1%half vear = Rs, 2000
Balance meoney for 2™half vear = Rs, 6825 - Rs, 2000 = Rs. 4825

For 2"half yvear : P=Rs. 4825, R = 10% and T = évear

Interest = Rs, 4222x10x1 by o5

1002
Amount = Rs, 4825+ Rs, 241,25 =Rs 5066.25

Money paid at the end of 2"half year = Rs. 2000
Balance money for 3%half year = Rs. 5066.25- Rs, 2000 = Rs. 3066.25

For 3half year : P=Rs. 3066.25;, R = 10% and T = %year

Interest = Rg, o000-22x10x1 b yes 255

100% 2
Amount = Rs 506625+ Rs 153.5125 =Rs 3219.5625

Money paid at the end of 3%half year = Rs. 2000
Amount outstanding at the end of Z¥payment

= Rz 3219.5625- Rs, 2000

= Rs 1219.5625

= Rs 1220 (nearest rupee)



Answer 22.

For 1#half year : P=Rs 20000, R = 10% and T = 1 vear
20000 x10x1

Interest = RS.T = Rz 2000

Amount = Rs 20000 + Rs, 2000 = Rs, 22000

Money paid at the end of 1¥half year = Rs, 5000
Balance money for 2"half year = Rs, 22000 - Rs, 5000 = Rs. 17000

For 2"half year : P=Rs, 17000; R = 10% and T = 1 vear
17000 x10x1

Interest=Rs - " "~~~ _Rs 1700
100

Amount = Rs 17000+ Rs 1700 = Rs 18700

Money paid at the end of 2¥half vear = Rs. 10000
Balance money for 3%half year = Rs, 18700 - Rs, 10000 = Rs, 8700

For 39half year : P=Rs. 8700; R = 10% and T = 1 vear

Interest = Rs M =Rz 870

100
Amount = Rs 8700+ Rs, 270 =Rs 9570

A man should pay Rs, 9570 at the end of 3rd year to clear the account.

Answer 23.

Let the value of ring (F,)=Rs. 100,
Appredation (C.1.) for the 1% year = Rs, % =Rz 10

. Walue of the ring at the end of 1¥ year (A )=Rs 100+Rs. 10 =Rs 110

- Walue of the ring at the beginning of 2™ yvear (P,)=Rs, 110
110=x10x1

Appredation (C.1.7 for the 2" year = Rs. —Ton - Rs= 11

Surm of the appreciation (C.1.) of 1% vear and appreciation (C.1.) of 2" vear
= Rs (104 11)
=Rs 21

Thus, when sum of appredation is Rs. 21, then value of the ring (F,) = Rs. 100
And, when sum of appreciation is Rz, 6300, then value of the ring
100« &300

21
= Rz, 30000

= Rs

S0, the value of the ring is Rs, 30000,



Answer 24.

For 1* vear : P=FRs 15500, R = 10% and T = 1 vear
15500« 10x=1
' 100

Armount = Rs, 15500+ Rs 1550 = Rs, 17050

Interest = Rs = K= 1550

For 2" vear : P=Rs. 17050; R = 15% and T =1 vear

Interest = Rs, 1?05?5[]15 *1 _Rs 2557.50

Amount =Rs 17050+ Rs 2557 .50 = Rs 1960750

For 3" vear : P = Rs. 19607.50; R = 20% and T = 1 vear

Interest = Rs, 12007.90x20x1 b =554 50

100
Amount = Rs, 19607.50+ Rs 3921.50 = Rs, 23529

Difference between the C.1. of the 2™ vear and the 3" vear
= Rs (3921.50- 2557.50)
= Rs 1364

Answer 25.

For 1* vear : P=Rs, 7500, R =30% and T =1 vear
Interest = Rs. ?EDDISSDK 1 = Rs 2250

Amount =Rs, Y500+ Rs 2250 =FRs 9750

For 2" yvear : P=Rs. 9750; R =30% and T = 1 year

Interest = Rs, Q?Siggﬂx 1 =Rs 2925

Amount =Rs, 9750+ Rs 2925 =Rs 12675

Thus, total amount to be paid by Samidha=Rs 12675
But, Samidha gave Rs. 10000 + juicer to Shreva,

= Rs 10000 + Cost of juicer = Rz, 12675

= Cost of juicer = Rs (12675- 10000 = Rs, 2675



Ex 3.2

Answer 1.
(i) Rs 8000 for 3 years at 10% per annum compounded annually.
Here P = Rs 8000,t = 3 years,r = 10%

(o Y [, 10Y
Now, Amount =P|1+—_ | =8000/1+ — |
R R e S e "~ " 100
(11
— 8000
\10)
1331
— 8000 x 22~ _ 10648
1000

Hence, Amount = Rs 10648
Also,CI = A- P =Rs 10648 - Rs 8000 = Rs 2648

(ii) Rs 15000 for 2 years at B% per annum compounded semi-annually.
Here P = Rs 15000, t = 2 years, r = 8%
Sinceinterestis compounded semi-annually, so

r ~ 2t I 8 ~4
A t_Pi———ﬁ - 15000{1+ -2 |
R -5 200 """ 200
r26Y*
— 15000/
\25)
AN D o P20 gedaR

25 2525 25
Hence, Amount = Rs 17547.88
Also,CI =A-P=Rs17547.88 -Rs15000 =Rs 2547.88

(iii) Rs12000 for 1% years at 5% per annum compounded annually.

Here P = Rs 12000, t = 1% onrs ¥ — 5%

X: \
Now, Amount after 1 year =P} 1+ | =12000]| 1—i !
. 100/ . 100)
(1057
~12000]
100/
=12600
Now interest for the next half year = = Le000x 5 315
100=2

Hence, Amount = Rs 126004 Rs 315 =Rs 12915
Also, CI = A-P =Rs 12915-Rs 12000 =Rs 915



(iv) Rs 25000 for 2 years at 6% per annum compounded semi-annually.

Here P = Rs25000,t = 2 years,r = 6%
Sinceinterestis compounded semi-annually, so

g ‘ ~2t ¢ 6 = d
Amount=P/1+— | =250001+ —|
. 200/} . 200)
r103Y
=25000 — |
L 100}
=28137.72

Hence, Amount = Rs 28137.72
Also,CI =A-P =Rs 28137.72 -Rs 25000 =Rs 3137.72

(v)Rs16000 for 3 years at 10%, 8% and 6% for successive years.
Here P = Rs 16000, t = 3 years, r = 10%, 8%, 6% successively.
T T e
Now, Amount =P|1+_L1 |l1+_2 |1+ 2|
" 100l 100/l " 100/
v N N ™
—16000{1+ 19 (1. 8 }f1. 6}
\" " 100\ " 100/ " 100/
ITRY4 w4 a
- 16000 11 |(198 (106}
|10/ 100! 100
=20148.48

Hence, Amount = Rs 20148.48
Also,CI =A-P =Rs 20148.48 -Rs 16000 =Rs 4148.48

Answer 2.

Here P = Rs15000,t = 2% years, r = 10%

t 2
Mow, Amount after 2 vear =P 1+ | - 15000 1+£
100 100
11y
= 15000 —
10
= 18150
MNow interest for the next half year = = i Q07 .5
100 =2

Hence, Amount = Rs 18150 + Rs 907.50 = Rs19057.50
Also, CI=A-P =Rs19057.50 —Rs 15000 =Rs 4057.50



Answer 3.
Here P = Rs 36000,t = 2 years,r = 15%

t z
Now, Amount = P{1+——| = 36000{1+ 12
100 100

115
= 36000| ==
(100}

= 47510
Hence, Amount = Rs 47610

Answer 4.
Here P = Rs50000,t = 1_; yvears, r = 8%
Sinceinterestis compounded half-yearly, so

2t 3
Now, Amount =P[1+——| =50000[1+-2—
200 200

104’
= 50000 —
[100}
= 56243.20
Hence, Amount = Rs 56243.20

Also, CI = A- P =Rs 56243.20 —Rs 50000 =Rs 6243.20

Answer 5.
Here P = Rs25000,t = 2 years, r = 4%, 5% successively.

Mow, Amount =P 141 |[14 2
100 100

< 5

_ 25[3@@[1@_4] [@]
100,100

= 27300
Hence, Amount = Rs 27300



Answer 6.

Here P = Rs31250,t = 3 years, r = 8%, 10%, 12% successively.
I, Amount=l3'[1+ 1 J(1+ 2 J 143
100 100 100
=31250] 14 = [ 14 22 |[14 12
100 100 100
108y 1103112
= 31250
[100}[100][10@]
= 41580
Hence, Amount = Rs 41580

Answer 7.

Here P = Rs 28000, A = 30870,t = 2 years

t z
Now, P[1+ | = A = 280001+ | =30870
100 100

FY 30870 441 (21
=1+ = = =|—
100) 28000 400 L20

r 21 r 21 1 100
=l+—=—=—=—-1=—=R=—"+=
100 20 100 20 20 20

Hencerate of interestis 5%.

Answer 8.

Here P = Rs 15625, A= 17576,r = 4%

t t
Now, F 1+ | = A =15625 1+i = 17576
100 100

- (%Jt _ 17576 _ [ﬁf
25 15625 |25

By comparing powers, t = 3

Hence time is 3 years.

Answer 9.

Here P = Rs 2000, A = Rs 2662,r = 10%

t t
Now, P 1+ —| = A =2000 1+£ = 2662
100 100

:}[HT _ 2662 _ 1331 _ [HT
10 2000 1000 10
By companng powers, t = 3
Hence time is 3 years.



Answer 10.

Per=t
100
_ & 0000

Since, Simple interest =

Fxdx3 5000

= 600 =

MNow for CI, P = Rs 5000,r = 4%, t = 3 year

t 3
_ r B 4
Amount =F [1+ ﬁ} = SDDD[1+ 100}

26
_5000x | =2 -5624.32
x[25]

Hence, Amount = Rs 5624.32
Also, CI=A-P=Rs5624.32 —Rs 5000 =Rs 624.32
Answer 11.

Let sum be Rs P and r % be the rate of interest.
Wehavet = 2 years, CI = Rs 40.80 and 51 = Rs 40

Since, Simple interest = Palal
100
:>4[:]=er}{2 =M=2DDD
100 =
MNow,
r ry
Cl=A-P =P|1+——| -P=P||1+—] -1
[ ' 100} [ ' mo]
_ N
= 4080 =P||1+ —| -1
[ ) mDJ

= 40.80 =P|1+

r? = g
freemam |
10000 100

'
= 40,80 =P|1+

re 2r
T |
10000 100

(2 2r
— 40,80 = P —ul
| 10000 * mo]
~ 4080 =rpPr[_" _,+ 2
10000~ 100
B r+ zoo]
— 40,80 = zooo[m

— 40 90 = r+ 200

=r=4080x5-200=204-200=4

Hence,r = 4%.
2000 2000
r
Thus, sum is Rs500 and rate of interest is 4%.

500,



Answer 12.

Since, CI.=A-F

2 2
c.1.=P[1+iJ _p_p{meJ _p_ 11664 11664 - 10000P _ 1664P

100 100 10000 - 10000

_F‘xSxE_ 1eF

= 100 100

Mow, CI - S =Rs 448
leede 1P

o000 100~ o 448
1664P - 1600P
oo~ e

= &P = Rs, 4420000
=F="FRs 70000

Hence, the sum is Rs, 70000,

Answer 13.

Let the rate of interest per vear be r.
SO000xr« 2

sl in2vyears=Rs ——— —— = Rs 1000
100

2
And, C.I.in 2 years = A—P=Rs 50000{“ Jﬁ} _Rs 50000

Given, CL- 5L =Rs 125
2
= 50000{1 2 ﬁj ~ 50000 - 1000r = 125

” .2 |_s0000- 1000 - 125
10000 100 B

= 50000 + 5% + 1000r - 50000 - 1000 = 125

= 5% =125

=r?=25

= =15

But the rate of interest cannot be negative,
Rate of interest is 5%.

= SDDDD[l +

10000



Answer 14.
Given: Amount =Rs, 157290 =2 years, r, =5 and r, = 7%
&=P[1+%J[1+%J
=15729= F"[1+ i}[l . J

+—
100 100

= 15729 p[ 12 )(1%/
100){100
15729 x 100x 100

105x% 107
=P =Rs. 14000

=P-=

Answer 15.

Given: A =FRs 13891.00, P =Rs, 120000 = 2 vears

100

1389150 (. r Y
12000 100

1389150 [1 r T

3
13891.50 = 12DDD[1 + LJ

12000=100 L~ " 100

%l (oY
8000 |~ 100

21 r
:}E_1+H

2l 4 r

20 0 100

RN

20 100
= r = 5%



Answer 16.

Let the share of A be Rs, x.
Then, the share of B = Rs, (16220 - x)

For & P=PRs x, r=5% andn={40- 27) vears = 13 years

n 13 13
caePl1e ) cRs x[14 2] —Rs x[2L
100 100 =0

For B: P=FRs (16820-x), r = 5% andn=({40- 25) yvears = 15 years
15

n 5 21 15
A =Pl1s | —Rs(16820- %) 1+ 2| =Rs (16820-x)
100 100

20

Given, both receive equal sums on reaching the age of 40 vears,

13 15
X{EJ = (16820 - X][E]
=00 =0

2
= x=(16820-x)x [EJ
20

= x = Rs 2220
= 16820- x = 16220 - 2220 = 2000

. Share of A =PRs 2820 and Share of B = Rs. 2000
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